~RIVALE

SKID PLATE INSTALLATION MANUAL
MANUEL D'INSTALLATION DE PLAQUE DE PROTECTION

MONTAGEEINLEITUNG FUR UNTERBODENSCHUTZSYSTEM

For: Polaris Sportsman ACE (2011-)
2444.,7433.1
444.7433.1

i 9 S




EN Ratchet S -10:
FR Clé A Cliquet S- 13'
DE Ratsche

RU TpelieTka

|

2 5 |3 4
x1 x1| M8 x6 @ M8
8 9 1
x14 | M8x25 x14 | M8x50 x6 | &6
L 9 15 © 16
x14 x6 | M6 x6 | D6

2444.7433.1 / 444.7433.1



|

2444.7433.1 / 444.7433.1




|

A LS 8;13

7:12

2444.7433.1 / 444.7433.1



S RIVAL

8;13

=
m
mM
<
-
<
<
<
S
1.
m
mM
<
b
<
<
<
N



15;16;10

=
T \/

D

w? °
il

|

s
‘q;\.’
@va j
N\ -’ - 6
6
’ 6

2444.7433.1 / 444.7433.1

14




|

- : I\jlé@!SONm
y 5 |

2444.7433.1 / 444.7433.1



|

C
.@’
M8=30Nm

NV

—~

oY

M6=10Nm

2444.7433.1 / 444.7433.1



|

2444.7433.1 / 444.7433.1



